B. Se. Engg. (CEE) 6" Sem. 23 May, 2024 (Group-B)
ISLAMIC UNIVERSITY OF TECHNOLOGY (IUT)
ORGANISATION OF ISLAMIC COOPERATION (OIC)
DEPARTMENT OF CIVIL AND ENVIRONMENTAL ENGINEERING

Semester Final Examination
Course No.
Course Title: Project Planning and Management

Summer Semeste znzz-zon
Ful u M.r

Hnm

Noo11& 2. Quetion .1 8.2
“The figures

- ed.
in the right et eve her apast mesnimg

ate full marks. The S

(@) Discuss the importance of Project Management 5 co
(b) ANC company has estimated the following time for its project. The company has 30 €03
fixed 20 months to complete the project. What is the probability of success that
the project will complete on time (times arc in months)?
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Time | likely
| |__Time
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Determine the fotal duration of the project. frec float, total float of cach activity
and identify eritical path of the project.

Suppose you are an assistant project manager of that ANC company (Ques-1).
Total costs of the project is $200 million. The company provides all kinds of
', labor and cquipment supply.

m

completion of the project with desired quality.

AU 12 months. you have found that, the work estimated was SK0 million. work
completed was $100 million although §75 million have been spent for the work

I the schedule, at 12 months. you have found that two activities (h and i) will be
earied saon and ctiviy o is about 1 Tish, Activit ¢ = oof casting, = neior
and exterior walls plastering, painting. cleaning and finishing works, and h
racing at roof slab respectively. But, there will be heavy rainfall for next two
months and sub-contractors want to slow the operation.
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In such case, '

specified time frame

(@) What will be your role for completing the jobs withi
onth

0 oy

(b) Drinw the Bar Diagram and S-Curve, and justify your opinion to the s o
‘management

(¢) Identify the areas that need to monitor in this project. 0 coi po
3.(a) What do you understand by Opportunity Cost? 5 col PO
(b) Explain the economic life of an usset s co2 kO
(€) A factory has a current market value of $60.000 and can be kept in service for4 10 €02 PO
more years. With a MARR of 12% per year, when should it be abandoned? The
following data are projected for future years:
Year1 | Year2 | Yeard | Yeard
e revenue $50.000 | 330,000 | $15.000 | S10.000
Market value 35,000 | 520,000 | S15.000 | $5,000
verhaul value S350
44a) Stute the importance of EVA. 5 col o
() A project was originally planned 1o be completed with an invesiment of $300 10 €02 PO
‘millions and was planned to be completed in 30 months. After reviewing the
project after 10 months, it was found that work worth $95 millions have been
completed instead of $90 millions us per plan though the expenses incurred ill
date was found $100 million. Determine the cost and schedule variance. Also
pected cost and time of with same p Also
suggest your strategy to the management
(€) Interpret the following figure of a drainage project and summarize your opinion 5 €02 PO
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S{a) Stae the common mistkes in a consruton i egarding safey perspestive

(b) s he safety obligaion of 8 Projct Manager
© Duwm h hisup Justiy your
answer.
©.(a) When should we consider the replacement of an asset? Why?
(b) Dr. Chowdhury purchased a car 10 years back at a cost of Tk 5.10 lac whose

market value is Tk 6.00 lac now. It can be used for 3 more years at which time its
value wil be Tk 3.5 lac. Operation and maintenance expenses are Tk 1.8 lac per
year Dr. Chowdhury c: with
for Tk 250 lac. In S years the value of this car is estimated to be Tk 150 lac
Operation and maintenance expenses will be Tk 45000 per year. Should Dr.
Chowdhury replace the old car using before Tax MARR of 12%

() Ina project, broadly four scenario can happen with respect to time and cost. What
are those? What corrective action should you take against those scenario to bring
the project on schedule and within budgei”

7.(a) The following

arve represents the progress of a building project in Rajshali

Give your comments of project status on status date. Find out SV, CV, SPI, CPI,
b\(‘ (without modification of performance) and EAC (with modification of
nance).
() Whatcomestiveacionsnesd o be faken i xde 0
Rajshahi [Ques. 7(a)] to its master sched
(@ Whats meant by Tine Value of Money” ’P\)c\plnm

the building project of

8.(a) Why is tender security required in any tender process?
(b) In which case. the tender security is forfeited” Why”
(¢) Describe briefly the Open Tendering Method (OTM),
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